Unit 2

Grammar
1

Are there any oranges?
There’s a red apple.
There isn’t any food.
There aren’t any peanuts.
Is there any wine?

There are some crisps.
There’s some cheese.

some
any
aren’t

any
some

A lot of
How much
a lot of
much

A lot

a lot of
many

There aren’t many eggs.

He’s got a lot of food.

We haven’t got much time.

How many shoes has she got? / Has she got a lot of
shoes?

There are a lot of stairs.

How much milk is there? / Is there a lot of milk?

7 She hasn’t got many bags.
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Vocabulary
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bread
bananas
eggs
beer
tomatoes
ham

milk

olive oil
cheese
butter

onions
apples
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Conversation
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Not many. Two or three.

I've got a ZAR 802.

Yes, there is.

A lot. We can make a lot of sandwiches!
Not much. Two cans.

No, there aren’t any.

Not

is

lot
any
aren’t
of
please
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